P-PACK(E—+/\v %)

®/iE RYVI)—-X |
Ny
2% - Z (mm) AH & AR
AIA $4x16 118 TA-416SP ¥ 1,800
27V RS $ 4x20 105 TA-420SP ¥ 1,800
[ ®4x25 90 TA-425SP ¥ 1,800
© Y $8mm $4x30 77 TA-430SP ¥ 1,800
$4x35 65 TA-435SP ¥ 1,800
® 4x40 58 TA-440SP ¥ 1,800
AYSIYEVT (AT LR) ¢ 4x45 51 TA-445SP ¥ 1,800
® 4x50 45 TA-450SP ¥ 1,800
® 4x55 32 TA-455SP ¥ 1,800
® 4x60 30 TA-460SP ¥ 1,760
® 4x65 27 TA-465SP ¥ 1,800
$4x70 23 TA-470SP ¥ 1,800
$4x75 20 TA-475SP ¥ 1,800
[REa 1 X (mm) A m B IEAEBRSTfig
R UTERE 8mm M4x16 300 SV-416P ¥ 1,500
M4x20 240 SV-420P ¥ 1,500
M4x25 200 SV-425P ¥ 1,500
M4x30 150 SV-430P ¥ 1,500
M4x35 120 SV-435P ¥ 1,500
M4 x40 100 SV-440P ¥ 1,500
ISOHSINRY Md4x45 90 SV-445P ¥ 1,500
M4x50 90 SV-450P ¥ 1,500
M4x55 70 SV-455P ¥ 1,500
M4x60 70 SV-460P ¥ 1,500
M4x65 60 SV-465P ¥ 1,500
M4x70 60 SV-470P ¥ 1,500
M4x75 51 SV-475P ¥ 1,500
2% - Z (mm) A¥ w & RS
27V RS M4x16 30 SV-416SP ¥ 1,800
 RUTER: $8mm M4x25 50 SV-425SP ¥ 1,800
Md4x35 30 SV-435SP ¥ 1,800
ISOYZINRY (RFTVLR) M4x55 20 SV-455SP ¥ 1,800
M4x65 10 SV-465SP ¥ 1,800
M4x70 10 SV-470SP ¥ 1,800
M4x75 10 SV-475SP ¥ 1,800
2% H4X AB & IEAE RS
M4 350 NT-M4P ¥ 600
M5 260 NT-M5P ¥ 600
M6 200 NT-M6P ¥ 600
"EFvh M8 100 NT-M8P ¥ 600
Ww3/8 60 NT-W9P ¥ 600
M10 50 NT-M10P ¥ 600
W1/2 30 NT-W12P ¥ 600
2% + X (mm) A¥ a & B RS
M4 (d4.5xD10xt0.8) 900 RW-M4P ¥ 660
. W1/2 (d14.5xD32xt2.3) 40 RW-W12P ¥ 660

FIyr—
[REa PR A wm B AR SEHIG
M4 900 SW-M4P ¥ 660
M5 650 SW-M5P ¥ 660
M6 450 SW-M6P ¥ 660
STyIv— M8 210 SW-M8P ¥ 600
w3/8 110 SW-WoP ¥ 660
M10 130 SW-M10P ¥ 660
W1/2 65 SW-W12P ¥ 660
2% - Z (mm) AH o & =R
35 10 MD-3510P ¥ 4,400
IYZANSERRYIL 3.8 10 MD-3810P ¥ 5,100
KIVZANTIERRYIILOFMIZP296%Z SR IZE W,

KBRS EBERD TIREER TUET, EEESHRILEE W,

JEFCOM

U — VN

SN

HOr->

HEEHEE | B7—CNVU

it

b

H7—t

==
- HH B

TN "
SEEREE L L

oSN~ TmIEN
Q\/oﬂ?ﬂi' ET

NEW
RETFE

499



	32_499-514_確認用

